MICROECONOMIC THEORY IV – ECO 6122

FINAL  EXAMINATION 

December 2006
NB :  SEQ CHAPTER \h \r 1 No documentation.  Calculator permitted.  Mathematical symbols are the same as the ones used in class (unless otherwise noted).

Part A.  True, False or Uncertain (20 points).

Respond to the following 4 questions. Justify your response.
1. When the prices of goods 1 and 2 are 
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, a consumer’s demand is x=(1,2).   When the prices are
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, we observe x=(2,1).  We can thus claim that this consumer is maximizing utility.   
2. If the allocation x is Pareto efficient, then the allocation (x,p) is a Walrasian equilibrium.
3. An allocation derived from a social welfare problem is Pareto efficient.
4. The compensation criterion permits to determine the best available allocations in an economy.
Part B.  Problems.  Respond to the following 2 questions. (30 points)

5. (20 points).  Consider a two-good, two-firms, two-factors, one-representative consumer economy.   The two factors of production are labour and capital.   The total endowment of labour and capital are respectively 
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.   The production function of firm 1 producing good 1 is 
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 is the quantity of good 1 produced by firm 1, 
[image: image7.wmf]1

L

 is the quantity of labour used in the production of good 1, and 
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 is the stock of capital used in the production of good 1.   The production function of firm 2 producing good 2 is 
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 is the quantity of good 2 produced by firm 2 and 
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 is the quantity of labour used in the production of good 2.   The utility function of the representative agent has this form:  
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 are the consumption of good 1 and good 2 respectively.
(a) Express the demand for labour in sector 1 (
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) in terms of the production of good 2  (
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).
(b) Find the equation representing the production possibility frontier (PPF).
(c) Illustrate in a graphic the competitive equilibrium (no calculation necessary here).
(d) Find the marginal rate of substitution of the representative agent.
(e) Find the marginal rate of transformation of the PPF.

(f) Find the competitive equilibrium quantities for 
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(g) Find the competitive equilibrium prices for good 1 (
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)  and good 2 (
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)
(h) Find the competitive equilibrium wage rate (w) and rental rate of capital (r).
(i) Find the national income of this economy.
(j) Find the competitive equilibrium consumption of  
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6. (10 points) Assume we have an exchange economy composed of two agents with identical utility functions:
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Assume that total endowments for good 1 and good 2 are respectively: 
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a. Calculate the marginal rate of substitution of this utility function.
b. Calculate the elasticity of substitution of this utility function.

c. Derive the equation representing the contract curve.
d. Illustrate in a graph the contract curve.
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